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PART A - PHYSICS

{H

In the circuit diagram shown above, the readings

of voltmeter and ammeter respectively are
(A)6V, 3A B)3V,6A

O© 12V, 3A D) 12V, 12 A

For the shown displacement-time graph, the average
velocity of the body in 10 seconds is

Displacement { m)
P
=}

Py

3 6 10

W)
Time (s)
(A) 20 m/s (B) 13 m/s
35
© ? m/s (D) Zero

Magnetic field pattern in a region is as shown below.
The needle of a magnetic compass will be deflected
most when placed at point

. oA
w[) v
> 7 oC

e
Wﬁ@ﬁ@%ﬂﬁq‘imﬂ'\m TAT 3rIeR @l
uTgAld A PRI —
(A)6V,3A
(C) 12 V. 3 A

A e T favenud w9 # uRfe 10
secﬁSﬁ’\HﬁaﬂﬁﬁifﬁﬁN—

B)3V,6A
D) 12V, 12 A

Py

3 6 10

Displacement { m)
P
=}

W)
Time (s)
(A) 20 m/s (B) 13 m/s
35
©) ? m/s (D) Zero

A e T e A gEer e fearn T g
qar 71 9 ¥ i I WR Ud g e HIud
I B gs Hed Surel foelfud gni —

. oA
w[) v
> 7 oC

i B
(A) A (B) B 5
©) C (D) D (A) A (B) B
© C (D) D
SPACE FORROUGH WORK
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4.

Same net force is applied on two different objects
of masses m and 3m. If x and y are the magnitudes

of their acceleration respectively, then the ratio —

will be
(A)1:3 B)1:1
©3:1 D)9 :1

An object of mass 2 kg is dropped from a certain
height. On rebounding from the ground, it rises

2
vertically till gth of its initial height. The ratio of

magnitude of momentum of the object just before
and after striking the ground is

A) 25 B) J5:2
©) 3:5 D) J5:3

A boy runs on a circular track of radius 20 m and
stops after covering one sixth of the track. The
magnitude of his displacement will be

(A) 20 m (B) 20 m

207
(D) ——m

40
(C) 40m m 3

A gun recoils when a bullet is fired from it. Which
of the following is/are true w.r.t. this statement?
(a) This phenomenon can be explained on the basis
of Newton's third law of motion.

(b) The magnitude of momentum of gun is greater
than that of bullet.

(c) The magnitude of momentum of bullet is greater
than that of gun.

(d) The magnitude of momentum of bullet and that
of gun are equal.
A) (@ & (d)
©) (@ & (o)

(B) (@) & (b)
(D) Only (b)

Sl S@FEl m AT 3m W HHM g IR AT
21 AfG x TATy A I RO BT AU G,

?ﬁ% DT U T PRI —
(A)1:3 B)1:1
€©)3:1 D)9 :1
TF 2 kg THAM B NG BT ¢F AT 9 |
BISI Ol & | eRIAd ¥ THIF & U I8

mmmmméthwwwé

A P B ERIAA § <A B b Ul d SIb
qI WA Pl AU ST PRI —

A) 25 B) J5:2

©) 3:5 D) J5:3

U dedl 20 m 55a1 & geiig g | Wi HRen
g dAT 39 JW ¢ Bl 1/6 9N UR Hl B
U ®dh Sl o, A S (eI &1 qiRHTor
ST PRI—
(A) 20t m

(C) 40t m

T TP d5d 3 el qE SR 8, @ agd de
P 3R S B | I8 gl 94 # 9 B B
§RT 9HsS S 9dhdl & —

(2) 39 9T &l =ed ®I d & dra FE 9
HHSTT ST\l & |

(b) TGP & HRT PHI URANT Mell & AT D
gRETT A 3MfSs BN

(c) AT @ HRT BT URAT dgb D HN D
gRETT A 3MfSs BN

(d) Mell T gvgp BT HAT bl GRATT Th FAA
BT

(A) (@) & (d)
©) (@ & (0

(B) (@) & (b)
(D) Only (b)

SPACE FORROUGH WORK
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8. A girl of mass 40 kg takes a staircase of 15 steps, 8. U®P 40 kg GHAM Pl dTSdI fufeat w15 o
cach of height 20 cm. If she utilizes a power of 80 Jed) & T udd R 9 Sars 20 em § Ry
W to climb the sta;ircase, the time taken by her is wul G S e i a8 aid g%
Take & = 10 mi] 80 W, 1 S g1 & Rifel W A ¥ R
(A) 30 s (B) 40 s T /AT S B [Take g = 10 m/s?]
(C) 45 s (D) 15 s (A) 30 s (B) 40 s
(C) 45 s D) 15 s
9. Two copper wires A and B have their cross- 9. T BR & dRI ATATB BT BT SEHAT BT ST
sectional areas in the ratio 1 : 2 and lengths in the »
ratio 2 : 1 respectively. The ratio of the resistivities 1:2% o s:rcﬁ P A 215 A
of A and B will be gD YRGB BT U @l BN —
(A) 1 : 4 (B) 8 : 1 A)1:4 (B) 8 : 1
(€) 4:1 D) 1:1 ©4:1 D) 1:1
10. A positively charged particle going eastwards enters 10. P SID T FOT TP A LR el
a region of uniform and perpendicular magnetic arad T qd fewm @ SR Ay wRar g
field. If the particle is deflected vertically upwards, gD &7 H gag oxal & | A T8 DI
the direction of magnetic field is 9T T SedfeR SR o RS faafid gar g, o
GEGI &3 DI Qe S BRI —
(A) Southwards (B) Northwards (A) <feToT BT R®  (B) SR BT TR
(C) Due west (D) Vertically downwards (C) uf¥gd &1 NG (D) Sedfer Hld & Wb
11. The magnetic field inside an ideal solenoid carrying 11. I v yRAfTRT ¥ [ W= i gRT gargd
constant non-zero current is @I Sl &, @ uRAforer & Hiay suflerd —@@—cﬁq
(A) Radial (B) Non-uniform &5 q—c‘rf%[ FITERY
(C) Uniform (D) Zero (A) B (B) SR
12. Choose the pair of quantities having same unit.
(A) Power and energy (C) T FH (D) =3
(B) Current and potential difference 12. F% # | @9 318 Al SfS @1 AT T B —
(C) Work and energy (A) TIfdd @ it (B) OIRT T fovamR
(D) Work and power (C) Rl T Sl (D) &1 T wfed
13. When a ball is thrown vertically upwards, then at 13. @ TP e P SRR SW P a¥% BT Srdl
the highest point 2 @ e S R W
(A) Acceleration is zero but velocity is non-zero (A) PO BT TR I ST TR ST ) S SFT
(B) Acceleration is non-zero but velocity is zero (B) R A BN UR AN g WM
(C) Both acceleration and velocity are zero (C) @RV T W QT Sl ST
(D) Both acceleration and velocity are non-zero (D) ROl @1 AT QI I ST
SPACE FORROUGH WORK
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14. Electric field in a region is E =3x2 N/C, where 14, UP & H fag@ & &1 99 E-3x% N/C 9
x 1s in m. Potential difference between points A(3, fear S &, o8l x #iex # §, ar | ﬁ@sﬁ A3,
0) and B(0, 3) is [V, - V] 0) T B(0, 3) & #edl famdr=R [V, — V] @1 41
(A) 9V (B) 27 V ST PR
(A) 9V (B) 27 V
© -9V (D) 27 V (C) -9 V (D) 27 V
15. For the part of circuit shown, potential difference 15. <@ ¥ ™ uRuy # fd=g A o B D A
between A and B is fawrar= =ma @ -
4 80 45 ap %Y g Ao, an 30 §¥ g
30 30
() 27V (D) 24 V © 27V (D) 24 V
16. Two concentric identical circular coils each of radius 16. I ' H.HH At cpPsletdl ol
R with tcic . : | 21T R 8, T1 S99 yanfed &R [, Th E9 © |
wi eir planes perpendicular carries equa
b pr .q UPh GEY @ I @ oad vl g8 o] A $
currents I,. The magnetic field at center is N S 85 P A ST B —
Holy Holg
(A) (B) Molo ey
VR & “ Jor B) 302k
Holy lJ-o 0
(©) Hol, lJ-o 0
vark % 2R N Ny
17. Dimensional formula of angular momentum is 17 . SN
(A) [ML2T ] (B) [MLT] P o o T fafi RN
(C) [ML—ITZ] (D) [MLTZ] (A) [ML T ] (B) [MLT ]
(C) [ML!T?] D) [MLT?]
. y .
18. Ify = x? sinx, then —— is equal to d
y dx © 18. zrf%yzxzsmxaid—ZwrﬂﬁszsﬁTﬂ—
(A) x? sinx + 2x cosx
2 . (A) x? sinx + 2x cosx
(B) x* cosx + sinx ) i
(C) 2x cosx + sinx (B) x* cosx + Sl.nX
(D) x2 cosx + 2x sinx (€) 2x cosx + sinx
(D) x2 cosx + 2x sinx
SPACE FOR ROUGH WORK
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19. Acceleration of 5 kg block shown in figure is 19.

[Assume ideal conditions]

Lm/s2
B S 2

(C) 10 m/s? (D) 5 m/s?

20. If a current of 2A is passed through a resistor of 20.

resistance 3Q2 for 5 sec. then calculate the heat
produced by the resistor

0 T o A 5 kg <l BT TR AT BRI [Yell

20 m/s 10 m/s?
A 2 B S 2
(C) 10 m/s? (D) 5 m/s?

IE 2A BT IRT U 3Q UfRIET § 5 sec db
yarfed @l ST 8, df UfoRiel § S~ ST ST

P —

(A) 50 W (B) 60 W o X3 .
(C) 100 W (D) 90 W (A) (B)
(C) 100 W (D) 90 W
SPACE FOR ROUGH WORK

Piprali Road, Sikar -332001 (Rajasthan), Contact No. 8875023160, 9257086020 Page#5



K-SAT SAMPLE PAPER 2024

21.

22.

23.

24.

25.

Number of Cl = O bonds in chlorous acid, chloric
acid and perchloric acid respectively are :
(A)4,1and 0 (B)1,1and3
(C)1,2and 3 (D)3,1and 1

3 moles of metal complex with formula Co(en), Cl,
gives 3 moles of'silver chloride on treatment with
excess of silver nitrate. The secondary valency of
Co in the complex is . (Round off to the
Nearest integer).

(A4 B)5 (C)6(D)7

The single largest industrial application of dihydrogen
is:

(A) In the synthesis of nitric acid

(B) Manufacture of metal hydrides

(C) In the synthesis of ammonia

(D) Rocket fuel in space research

Given below are the statements about diborane.
(a) Diborane is prepared by the oxidation of NaBH,
with L.

(b) Each boron atom is in sp* hybridized state.

(c) Diborane has one bridged 3 centre-2-
electron bond.

(d) Diborane is a planar molecule.

The option with correct statement(s) is:

(A) (c)and (d) only (B) only (a)
(C)(a)and (b) only (D) only (c)

Match List - I with List - 1T ;

List-1  List-1I

(a) NaOH (i) Acidic

(b) Be(OH), (i) Basic

(c)Ca(OH),  (iii) Amphoteric

(d) B(OH), (e) Al(OH),

Choose the most appropriate answer from the op-
tions given below :

(A) (a)-(ii), (b)-(i), (c)-(iii), (d)-(1), (e)-(iii)

(B) (a)-(id), (b)-(1), (c)~(i1), (d)-(iid), (e)-(iii)

(©) (a)-(ii), (b)-(iii), (c)~(ii), (d)-(1), (e)-(ii)

(D) (a)-(i), (b)~(i), (c)-(iii), (d)-(ii), ()-(iii)

PART B - CHEMISTRY

21.

22.

23.

24.

25.

FARE 37, TR I+l TAT WRhalRds 3+t H
Cl = O 3=l &) |eT HA: 8-

(A) 4,170 (B)1, 1723

(C) 1,2 de3 (D)3, 1T 1
Co(en),Cl, Y7 & Hepel & 3 HidA, Rear Agge &
fera | AT T RiedR FelRIgs @ 3 et
<d & | Hagel # Co @1 fg<iiae wiTaha & |
(FraveaH quries #)
(A)4  (B)S

(C)6(D)7

SISEISRIo ®I Udh 3Adhdl Fad Jaq il
ST &

(A) B8P 37T BT HIeIT

(B) g1 @ BISSISS| & ScdlaT H

(C) M BT HIeTToT

(D) 3icfRet 2Mer | Wave 38 B WY H

SISEINA @ ¢ i1 2 QU 8 |

(a) NaBH, &1 [, §RT S{dRADRYT IR SIgEIRT BT
fafor e B |

(b) YRid ST URATY] BT HBRU sp> B |

(c) STSARA H U Ageel = I—(gscids

31e= BIAT 6 |

(d) STSERT U e 377 & |
?ﬁﬁﬁmﬁiﬁmwif{@ fSTTH P2 W8l 8 /%6, T8
(A) Fae (c) T (d) (B) &9 (a)

(C) @ae (a) 7T (b) (D) only ()
gl - I 71 g4l - 11 &1 AT BIfT |

List-1  List-1I

(a) NaOH (i) 3r<ira

(b)Be(OH), (i) &

(c) Ca(OH), (i) Swrarerdf

(d) B(OH), (e) AI(OH),

A ey fawedl # | Halte S SR o g
(A) (@)~(i1), (b)-(i), (c)-(iit), (d)-(1), (e)-(iii)

(B) (a)-(ii), (b)-(1), (c)-(id), (d)-(ii), ()-(iii)

(C) (a)-(i1), (b)-(iid), (c)-(i), (d)-(1), (e)-(iii)

(D) (@)-(i), (b)-(i), (c)-(iit), (d)-(i1), (e)-(iii)

\[-S/)) TT)EE ACADEMY
!

SPACE FORROUGH WORK
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26. 0.8 g of an organic compound was analysed by | 26, HEf® W & 0.8 ¢ @ AELIGH B Sesrd
Kjeldahl's method for the estimation of nitrogen. If AT - afs s
the percentage of nitrogen in the compound was 5 T AT IR o
found to be 42%, then how many ml of 1 MH,SO, &1 ufererd 42% & a1 fazgeryor # e i 9 1
would have been neutralized by the ammonia M H.SO, T fe ml Seri= & gt |
evolved during the analysis. o
A) 12 (B) 24 (A) 12 (B) 24
(C) 18 (D) 36 (€) 18 (D) 36
27. A source of monochromatic radiation of wavelength | 27. 400 nm TR<ed & Tdavil BT &1 te A 10
400 nm provides 1000 J of energy in 10 seconds. Hpe H 1000 T SOl YT oIdl & | Sf9 g fafeor
When this radiation falls on the surface of sodium, HIFeTH &) Fa8 W Uedl 8, dl x x 102 gelaei= ufd
x x 10% electrons are ejected per second. Assume Fs ICARTT BT ¥ | A AT 5 AT o
that wavelength 400 nm is sufficient for ejection of %Y \IE W ST & T 400 nm qeTSE e
electron horn the surface of sodiummetal. The value
) BT A RSk
of x is . (Nearest integer) (h = i)l * § I il
?}'16:266 i B (h=6.626 x 10 Js)
: (A)2(B)3 )4 (D)5
(A)2(B)3 ©4 D)5
28. ForthereactionA+B — 2C 28. aAfaftar A+ B — 2C & forw 298 K W w1
the value of equilibrium constant is 100 at 298 K. If Rerie &7 49 100 2 | afe a7 wiefier § 9y
the initial concentration of all the three species is 1 URfE aredr 1 M2 ar C &) |y araer i
1 M each, then the equilibrium concentration of C arEedl xx 100 MR | x’ o
is x x 10" M. The value of x is 3
(Nearest integer) :
[REZSNE R YI G|
(A)25 (B)S0  (C)75 (D) 100 ((A) T 50) d= 50
29. For the following graphs, ,
& i 29. e wwt @ e
Rate RIte
(a) (a)
Time — “Time —
t1/2 t1/2
(b) (b)
Tnitial Initial _
. concentration
concentration
SPACE FORROUGH WORK
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30.

31.

=
2
£
=
8
OF
Time
=
2
£
=
8
(d) 8
Time
Rate
(e
Concentration

Choose from the options given below, the correct
one regarding order of reaction s :

(A) (b)and (d) Zero order (e) First order

(B) (a) and (b) Zero order (e) First order

(C) (b) Zero order (¢) and (e) First order

(D) (a) and (b) Zero order (c¢) and (e) First order
Assuming that Ba(OH), is completely ionised in
aqueous solutionunder the given conditions the con-
centration of H,O" ions in 0.005 M aqueous solu-
tion of Ba(OH), at 298 K is x 1072 mol
L. (Nearest integer)

(A)0.5 (B)1(C)2 (D)5

Identify the process in which change in the oxida-
tion state is five :

(A) C,0* —2C0,
(B) CrO; — Cr**

(C) Cr,07 - 2Cr™*
(D) MnO, — Mn*"'

30.

31.

g
© £
Time
(@ 3
Time
Rate
(e) (Concentration = i,
Concentration
Rate = V)
g faU v fAemeal # ¥ Wl fddey, rwfdhar dife
& e § g
(A) (b) @1 (d) T DI (e) Y2H BIfS
(B) (a) 721 (b) T PIfE (e) UM DIfc
(C) (b) T BITE () TAT () U2 Bl

(D) (a) T2 (b) I IS (c) TAT (&) I2H Bl
U <1 A aRReIfT # Ba(OH), 1 wieid faera=
% qofa: amafd A9 @, 0.005 M Ba(OH), &
STeflar faera= § 298 K wr, H,O" 3=l a1 et
2 x 102 mol L' | (Mcaw qurfe )
(A)05 (B)L(C)2 (D)5

ueh¥ T SifaRiTaxoT sraverr # gRady Ui &, a8

2
(A) C,0* —2C0,
(B) CrO; — Cr**

(C) Cr,07 - 2Cr™*
(D) MnO, — Mn*"'

SPACE FORROUGH WORK
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32. Inasolvent 50% of an acid HA dimerizes and the 32. UH fqamdd H, e 3 HA &1 50% fgadbidpd

rest dissociates. The van't Hoff factor of the acid is iaT © 9y i sidr 2 | 3T & o ar< g%
x 1072, (Round offto the Nearest Integer). Tk & x 102 (Frpec gofe #)

(A)125  (B)100 (C)150 (D)200 (A)125 (B)100 (C)150 (D)200

33. Givenbelow are two statements : oneis labelled as 33. 919 P2 A 92 HRU R R )
Assertion A and the other is labelled as Reason FOTA : H (¢) 31 3T SO (g) 1 T aRaw
R. T2 2
AssertionA: SO (g) is adsorbed to a larger R NEIRIENI] ,
extent than H_(g) on activated charcoal. ST R :H (g) @1 37%T SO, (g) T wiftra am
Reason R:  SO,(g) has a higher critical tem- Sed BT & |
perature than H (g). <9 feu fameul # W waiftid Sferd IR 39 Bl
In the light of the above statements, choose the most & forw g
appropriate answer from the options given below: (A) AT 18T & wReq R @) 2|
(A) Ais not correct but R is correct (B) AR I W&l § @ik R, A @1 6 @
(B) Both Aand R are correct and R is the correct Ny ’
explanation of A. . :
(C) Both A and R are correct but R is not the cor- (C). ATRITR ST &1 & SR R, A &1 e e
rect explanation of A. el & | .
(D) Ais correct but R is not correct. (D) A \8l 8 U] R el &1 © |

34. The distance between an octahedral and tetrahe- 34, FCC STt H 3TChdd g Tl Aqeheida Riddarait
dral void in fce lattice would be : & HeT U BN

\3a \a \3a J3a \3a \3a

A) V32 B) - (©)— ©) #)ra B)~— (©) = O)~-

35.  Asample of air is saturated with benzene (vapor 35, 298 K, 750 mm Hg ® qY B Yb TG B doi
pressure =100 mm Hg at 298 K) at 298K, 750mm (298K W a9 =1@ = 100mm Hg) & @1l Ggw
Hg pressure. Ifit is isothermally compressed to one e ST 2 | X PP B 5D TRME ST
third of its initial volume, the final pressure of the & T R qP T T § SRS far s
system is SR o N

al frerg &1 erfvaw g9 91 32—

(A) 2250 torr (B)2150 torr (A)2250 torr (B)2150 torr
(C) 2050 torr (D) 1950 torr (C) 2050 torr (D) 1950 torr

36. Anideal diatomic gas is caused to pass through a ~ ~ )
cyclic process involving reversible process shown 36. T fGURAINAP S T PI TH A i
on the UhH B gIR1 JoIRT ST & T2l P-V 3RW F=141
P-V diagram in figure, where V, =3V . IfP,, V, STl ®, wiEl V, =3V, &l f P, V, der T,
and T, specify the state-a, then the temperature of FaRefl-a B Frefid <l 8, a1 9 &1 am (T,)
gas (T,) at the state-c s : AILT-¢ TR BT

SPACE FORROUGH WORK
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A

P P
ISochonc
HE!
Vi oV,
\"

T 1/4 T 0.33 T 1/4

1 1 1
w3 el ®(3)

T 0.4 l 0.4 T 0.4

G 5

37. The IUPAC name of the compound is : 37. A@ffidk &1 IUPAC TH © |
(A) (2E, 4E, 6Z)-octa-2,4,6-triene (A) (2E, 4E, 6Z)-octa-2,4,6-triene
(B) (2E, 4E, 6E)-octa-2,4,6-triene (B) (2E, 4E, 6E)-octa-2,4,6-triene
(C) (2Z, 4E, 6Z)-octa-2,4,6-triene (C) (2Z, 4E, 6Z)-octa-2,4,6-triene
(D) (2Z,4Z, 6Z)-octa-2,4,6-triene (D) (2Z,4Z, 6Z)-octa-2,4,6-triene
38. Arrange the following compounds in order of ~ 38. fwfafRaad @ifirer @1 st aifwfear & forg

decreasing rate of hydrolysis for S 1 reaction: W Y R g i
0 @CHZ-BF 1 @CHZ—Br
() Hsc@CHz_Br an H3C@—CH2—Br
m CH3—CH2@CH2—Br (1 CHs—CHz@CHz_Br
W o 0o e O)-

2 V) CH CH,—-Br
AN>M>IV>1B)IV>1>I11>1 AN>N>IV>IB)IV>I>1 >
CH>Iv=>1>I O)l=>1>1=>1 ©Mm=>v=1>l O)I>1>1>1

SPACE FORROUGH WORK
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39. Which of the following is electrophile in Reimer . 5 I . o
Tiemann reaction 39. 1 @ B wER- # gelagi
o = 8
(A):CCl, (B) CCl, o
(C) PhOH (D) : CH, (A) : CCl, (B) CCl,
40. Identify diastereoisomer in the following are : (C) PhOH (D) : CH,
40. syfafa w1 AT gga™ |
H CH,
H CH,
A Cl—71—CH, H————I
( )Cl——CH3 H———(l A) Cl—/——CH, H————]
Cl——CH, H——+—I
H CH,
H CH,
CH, Cl
CH, Cl
H——F—— 1 CH; —H
®) CH— 43 CH——H H————c| CH——H
(B) cH——+—H CH——H
Cl Cl
Cl Cl
CH, CH,
H Cl CH, CH,
H——Cl H Cl
©H ¢ C—1—H He—7—=(l
C) H Cl——T—H
CH, CH, © Cl
CH, CH,
CH, CH. |
H Py CH
Cl | ZH - : CH, (I
(D) H\\\\“ Cl Z 4H
H Cl Cl cH (D) W
’ H a T A tw
CH, 3
CH,
SPACE FORROUGH WORK
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PART C - MATHEMATICS

41. If a <b < ¢ < d, then roots of (x—a)(x—¢) + 2 41. AT a <b <c <d, GHH
(x-b)(x—d)= 0 are- (x-a)(x—¢) + 2(x-b)(x—d) = 0 & HA ©T—
(A) real and equal (A) TP Td FHMH
(B) real and unequal (B) ITIfdd Ud rEHM
(C) imaginary (C) ®reufd
(D) rational (D) uR¥a
42. 2‘:1%>3ifxis such that — 42. %>3sﬁﬂ,xgﬂ gpR Bl -
(A) x < -4 (B) -3 < x < 3/2 (A) x < — 4 (B) -3 < x < 3/2
(C) x > 52 (D) All these true (C) x > 5/2 (D) SRrh W W
43. Ifforan AP T,=18and T,=30then S isequal  43. U TATCR Hofl @ feQ T, = 18 T T, =30 1 g6
to- 17 UGT &1 AN (S;7) & —
(A) 612 (B) 622 (A) 612 (B) 622
(C) 306 (D) None of these (C) 306 (D) 9% ¥ dig 8l
44. Sumoftheseries3+7+ 14+24+37+.. 10terms,  44. 001 3+ 7+ 14 +24+37+ ..@1 10 Y] dPH ANT
1S — TRIER T—
(A) 560 (B) 570 (A) 560 (B) 570
(C) 580 (D) None of these (C) 580 (D) 9% ¥ Pz T8N
45, Sum of n terms of the series "8 + 88 + 888 + ... 45. <1 8+ 88+ 888+ ... ® nUG BT AN & —
equals (A) % [ 10"~ 9n—10] (B) %[ 107~ 9n— 10]
(A) % [ 1001 - 9n—10] (B) %[ 107 - 9n - 10] 8
o © a[lOnﬂ —9n + 10] (D) None of these
© 31 [1077 — 9n + 10] (D) None of these .
2)\8 46. (X—g) o fowR o w9 U 2 -
46. The middle term of the expansion (X —;) is- X
(A) 560 (B) =560 (C) 1120 (D) -1120 (A) 560 (B) -560 (C) 1120 (D) -1120
47. If the coefficients of r'h and (r +1)! terms in the 47. afe G+70P @ fawar 4 o7 e (r+1)ﬁ EEUIC
expansion of (3+7x)?° are equal, then r equals- RUICENEN g Al r BT AN T -
(A) 15 (B) 21 (A) 15 (B) 21
(C) 14 (D) None of these ©) 14 (D) None of these
SPACE FOR ROUGH WORK
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48.

49.

50.

51.

52.

53.

54.

55.

There are 3 letters and 3 envelopes. Find the
number of ways in which all letters are put in the
wrong envelopes.
(A) 6
© 2

(B) 4
(D) None of these

5
52-r .
47C4 + Z Cs is equal to -
r=1

@A) s, (B) 3¢,

© 53C4 (D) None of these

Mean of 25 observations was found to be 78.4.
But later on it was found that 96 was misread
69. The correct mean is

(A) 79.24 (B) 79.48

(C) 80.10 (D) None of these

Mode of the data 3, 2, 5, 2, 3, 5,6, 6,5, 3,5, 2,
5 is-
(A) 6 (B) 4

(©)5 (D)3

T

3n
The value of (1+005 8) (1+Cos?j
51 n
(1+cos?j (1+cos?j is -
1+\/§

1
A 5 22

tan 9° — tan27° — tan 63° + tan 81° is equals to

B) cost () 5 (D)

(A) 0 B) 1 © -1 (D)4

If cos 3x = —1, where 0° < x < 360° then x =
(A) 60°, 180°, 300° (B) 180°

(C) 60°, 180° (D) 180°, 300°

1 1
The value of tan(1) + cos™! (_E) T sin! (_E)

48.

49.

50.

51.

52.

53.

54.

55.

397 3R 3 forwm g | 9t w=t &l Tad forme
H W & fa addl bl AT

(A) 6 (B) 4

)2 (D) None of these

5
52-r
r=

A) Slc, (B) ¢,
©) 53C4 (D) None of these

25 UeToll T A1 78.4 UTAT AT UR=] dIG H
qrT AT 6 96 BT Tt W 69 U@ AT al
WEl A BITI-

(A) 79.24 (B) 79.48

(C) 80.10 (D) None of these

Afdsl 3,2,5,2,3,5,6,6,5,3,5,2, 5% 9gddD
BT

(A) 6  (B) 4 (C) 5 (D) 3

(1 +C0S 3_7:) (1 +C0S 5_7:) (1 +C0S 7_7:)
8 8 8 Dl HIq

BIT-

1+42
22

W) 5 B csE© 5 O

tan 9° — tan27° — tan 63° + tan §1° P HATH BN
(A)0O  (B)1 (C) -1 (D)4

If& cos 3x = -1, SIBI 0° < x < 360°, d@ x =
(A) 60°, 180°, 300° (B) 180°

(C) 60°, 180° (D) 180°, 300°

1 1
tan"1(1) + cos! (_EJ + sin! (_EJ BT AT

is equal to - TR D -
T 5n 3 13xn
Wi ®Z O3 O x 52 . 3t o0 13%
4 12 4 12 (A) 2 (B) 12 ©) 2 (D) 12
SPACE FORROUGH WORK
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1 41 1 41
56. The value of cos(ECOS 15) is equal to - 56. cos(ECOS 15) P A9 aRER ©-
3 3 1 1 3 3 1 1
@z ®-5 © 5 O @z B®-7 © 5 O
57. The domain of f(x) = VR 57. fix)= 2 x B U B -
(A)R-{-10,1} (B) R (A)R-{-10,1} (B) R
(O)R-{0,1} (D) None of these (O)R-{0,1} (D) 379 & IS T8l
58. If f(x) = 2|x — 2| — 3|x — 3|, then the value of f(x) | 58. IR fix)=2x-2| -3jx—3|,A2<x<3F T fix)
when 2 <x <31s IRIEN B—
(A)5-x B)x-5 (A)5-x B)x-5
(C)5x - 13 (D) None of these (C) 5x - 13 (D) 379 & IS T8l
-2 —
59. Iff:R-{3} »>R-{1},f(x)= ;—3 then 59. ufd f:R- {3} HR- {1}, fx)= z_i Bl
function f(x) is - B f(x)® -
(A) Only one-one (A) BIcl THA) Hor
(B) one-one into (B) THaT arehdy were
(C) Many one onto (C) IZTDH®T ATHBIEDH Bl
(D) one-one onto (D) Thad! IBIEdH Bl
im  IX] . .
60. The value of ," s - 60. th—>0 % B A
A) 1 (B) 2 (A) 1 (B) 2
) 3 (D) Does not exist (€) 3 (D) Docs not exist
SPACE FORROUGH WORK
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